
1

2

6 1 6

2

3

4

5

6

5

3

1

2

DOI



4

1

 1 AB O TA O BT

O D TO O C E 1 BD TD AB

AT 2 1 tan BDE 3

2 BD/TD 4/3 O r

          

tan BDE

BDE

BE AB

BDE= BAE ABE BAE

BE AE tan BAE

E AB EH BAE

AEH 1

AB=AT OEH OTA

OA=OE OH=m

AEH tan BAE

tan BDE

OAC OAE.

AD BD=4a TD=3a

a=1

TA= 2  1 AOC=60

AOC AOC AOE

2

1 ABC O BAC O

D BC E BE EC BD= 2 3 D

DF BC AB F 1 DF O

2 BAC=60 DE= 7

3
4

3

AB
AC

= DF+BF=8 2 BF

            

1

OD BC N

2 60

BN NE ND CE

BDE ACE AE AD

ABE AFD DF DF

BDF



BF=x FDB

FAD AB AC ACD DBF

x

3

2017 AB O

BC AB B BC = AB D BD

O AE E

1 1 CD=CB CD O

2 2 F OB FD CD
AE
AF

1

OD BC AB

ODC CD O

2 AD AB O

ADB= ADE =90 ADE BDA

AE AB
AD BD

= . DF CD CDF=90

AFD BCD
AF BC
AD BD

=

AB=BC

AE AF
AD AD

= 1
AE
AF

= .

AE AF

AE AF

AD ADE

AFD

AE AF AB=BC

[1] . [J].

( ),2015(04):96.

[2] . [J].

( )( ),2013(11):15.

[3] . [J]. ( )

( ),2013(11):16-17.

[4] . [J].

( ),2019(10):22+24.


